
Building Blocks – Right-Angle Trigonometry
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Label the 

sides with 

respect to 

the given 

angle.

Find the missing lengths, giving your answers to 1 d.p. Calculate the missing angles, giving your answers to 1 d.p.

Calculate to 3 s.f.

a) sin 52

b) 6 × tan(70)

c)  
5

cos(60)

d)  cos−1(0.1) 𝑦

𝑥

When given the value 

of 𝑥 and 𝑦 which 

trigonometric ratio 

would you be able to 

use to find the angle?

8 cm

10 cm

62.1°

𝑎

Find the value of the angle marked 𝑎 The diagram shows the ports of Boaten, Seaby and Wavely. 

Seaby is 48 km due south of Boaten. Boaten is due west of Wavely.

Jayden is on a ship travelling from Wavely to Seaby.

The ship travels on a bearing of 240° at an average speed of 20 km/h.

How long will it take for Jayden to reach Seaby?
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48 km
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the given 

angle.

Find the missing lengths, giving your answers to 1 d.p. Calculate the missing angles, giving your answers to 1 d.p.

𝐻

𝑂

𝐴

Calculate to 3 s.f.

a) sin 52

b) 6 × tan(70)

c)  
5

cos(60)

d)  cos−1(0.1)

0.788 10

16.5 84.3° 𝑦

𝑥

When given the value 

of 𝑥 and 𝑦 which 

trigonometric ratio 

would you be able to 

use to find the angle? tan

𝑥 = 5.6 cm 𝑦 = 15.7 cm 𝑦 = 51.3°𝑥 = 33.7°

8 cm

10 cm

62.1°

𝑎
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𝑎 = 54.7°

Find the value of the angle marked 𝑎 The diagram shows the ports of Boaten, Seaby and Wavely. 

Seaby is 48 km due south of Boaten. Boaten is due west of Wavely.

Jayden is on a ship travelling from Wavely to Seaby.

The ship travels on a bearing of 240° at an average speed of 20 km/h.

How long will it take for Jayden to reach Seaby?
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4.8 hours30°

96 km

96 ÷ 20 =

48 km
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